AV—y HEIE 3A78H LHIEH
SMF—L
AJOv) [ 4B | #@ | AF | — = | 8 | .
BIOvY | sieA | ne | Bk | e | w PRAFA
C7RAvyY |BFEdm |8EE | H4A | BE | KE
Bt AM_ A& PM___AF
B AT Ba—h Ca—h
xF Bk 2= X Bk = H X Bk =4
1 9:00 ¥H&B | ¥H XF || #HFA | /ME | BR[| I5FEEE | HER | HHEA
2 940l XF | —= | BB || BB | L | FiE | BEA | BE | KE
3|  10-20| NMEB | BAEB | EH EE | #FA | NE | KE | $5EA | BER
o 1100 EEB | XF | BE | ME | BB | —F= (EER| BEA [ LG
sl 1140 BB | KRE |E@EA| —= | #&B | HEB | LK | FTE | #HIFA
ol 1200[iEFEE | #82EA | EER| s | A7 | 2@ | mea | 3 | 02
N ool BEE] Bl | w2 | 28 | —= [RE | v | ws | mes
o 1340] BEE | i | mnsa [MAEA] EE | E@EE| <7 | mss | s
of 1400 #sA | s | mie [[iBEE| BE | BEA| e | —= | k7
1o 1s00] e | EE | s (S| EE | A6 | =E | seB | — =
0 WHEB | M | AT | —= | @EB | Bba |@xaz| @4 | B
A || tH4B 0-2 1-2 0-2 0-2 0 -7 1 5
5
|
v | KF 2-1 0-3 2-1 2-0 9 2 6 2
70 == | 20 | o4 | 1-2 2-0 || 6 -1 5 3
wmss | 2-o. 1-6 0-2 0-2 3 -7 3 4
0 MBA | T | BB | WG | 7R | BoA |[BxAE| @A | Bk
B || fHEA 0-9 0-4 1-2 1-2 0 -15 2 5
5
a
w | BERB 4-0 0-2 2-0 5—1 9 8 11 2
A T -1 0-8 0-2 -0 || 4 -9 2 3
RS 2-1 0-9 1-5 0-0 4 -12 3 4
0 Bap | Eee | mEA | BB | kR | Bos [BxAE| &8 | ER
c || EEE 0-1 1-1 0-2 6-1 4 2 7 4
J | mE= 1-0 0-3 1-3 3-0 6 -1 5 3
3 HEA 1-1 3-0 1-1 2-1 8 4 7 2
v
B 1-6 0-3 1-2 0-7 0 16 2 5




